Supplementary information

## Unlocking the Sensing and Scavenging Potential of Sc<sub>2</sub>CO<sub>2</sub> and Sc<sub>2</sub>CO<sub>2</sub>/ TMD Heterostructures for Phosgene Detection

Julaiba T. Mazumder<sup>1,2</sup>, Mohammed M. Hasan<sup>3,4</sup>, Fahim Parvez<sup>5</sup>, Tushar Shivam<sup>1</sup>, Dobbidi Pamu<sup>6</sup>, Alamgir Kabir<sup>5</sup>, Mainul Hossain<sup>7</sup>, Ravindra K. Jha<sup>1, 8, \*</sup>

<sup>1</sup>Nano Sensors & Devices Lab, Electronics and Electrical Engineering Department, Indian Institute of Technology Guwahati, 781039, India

<sup>2</sup>Centre of Excellence for Nanotechnology, Department of Electronics and Communication

Engineering, Koneru Lakshmaiah Education Foundation, Vaddeswaram, Andhra Pradesh– 522302, India

<sup>3</sup>Department of Theoretical Physics, University of Dhaka, Dhaka 1000, Bangladesh

<sup>4</sup>Department of Physics and Astronomy, Louisiana State University, Baton Rouge, LA 70803

<sup>5</sup>Department of Physics, University of Dhaka, Dhaka 1000, Bangladesh

<sup>6</sup>Department of Physics, Indian Institute of Technology Guwahati, 781039, India

<sup>7</sup>Department of Electrical and Electronic Engineering, University of Dhaka, Dhaka 1000,

Bangladesh

<sup>8</sup>Centre for Intelligent Cyber-Physical Systems (CICPS), Indian Institute of Technology Guwahati, 781039, India

\*Corresponding author email: jha@iitg.ac.in, ORCID: 0 000-0002-3478-4451

Struct_1				
Atom	X	У	Z	
Sc <sub>1</sub>	0.666666687	0.333333343	0.622142017	
Sc <sub>2</sub>	0.333333343	0.666666687	0.377857983	
С	0	0	0.5	
<b>O</b> 1	0.666666687	0.333333343	0.212495565	
O <sub>2</sub>	0.333333343	0.666666687	0.787504435	
Struct 2				
Atom	X	У	Z	
Sc <sub>1</sub>	0.666666806	0.333333433	0.622141957	
Sc <sub>2</sub>	0.333333433	0.666666865	0.377857953	
С	0	0	0.5	
<b>O</b> 1	0	0	0.21249561	
O <sub>2</sub>	0	0	0.787504435	
Struct 3				
Atom	X	У	Z	
Sc <sub>1</sub>	0.666666687	0.333333343	0.622142017	
Sc <sub>2</sub>	0.333333343	0.666666687	0.377857983	
С	0	0	0.5	
<b>O</b> 1	0.666666687	0.333333343	0.212495551	
O <sub>2</sub>	0	0	0.787504435	
Struct 4				
Atom	X	У	Z	
Sc <sub>1</sub>	0.666666687	0.333333343	0.622142017	
Sc <sub>2</sub>	0.333333343	0.666666687	0.377857983	
С	0	0	0.5	
O1	0.666666687	0.333333343	0.787504435	
O2	0.333333343	0.666666687	0.212495551	

**Table S1**: The atomic positions of each atom of the unit cell structures of Fig 1 of the original manuscript. Data is presented in fractional coordinates.



Figure S1. 3D representation of unit cell structures of different models of Sc<sub>2</sub>CO<sub>2</sub> (a) Struct\_1, (b) Struct\_2, (c) Struct\_3, and (d) Struct\_4 (e) Lattice direction



**Figure S2**. Supercell structures of different models of Sc<sub>2</sub>CO<sub>2</sub> (a) Struct\_1, (b) Struct\_2, (c) Struct\_3, and (d) Struct\_4



Figure S3. Partial DOS spectra of bulk and monolayer

**Table S2**: The calculated distance (d) of gas from MXene surface, adsorption energy ( $E_{ad}$ ) without vdW correction, charge transfer ( $\Delta q$ ), recovery time ( $\tau$ ) at 298 K and 373K, of CO, NO, CH<sub>4</sub>, H<sub>2</sub>S, COCl<sub>2</sub>, O<sub>2</sub>, and

Model	d (Å)	E <sub>ad</sub> (eV)	∆ <b>q (e)</b>	τ (s)/298K	τ (s)/373K
Sc <sub>2</sub> CO <sub>2</sub>	-	-	-	-	-
$Sc_2CO_2 + O_2$	1.6	-1.04	0.067	3.73×10 <sup>5</sup>	109.8
$Sc_2CO_2 + CO$	2.98	-1.05	-0.006	5.5×10 <sup>5</sup>	148
$Sc_2CO_2 + N_2$	1.5	-1.06	0.007	8.13×10 <sup>5</sup>	204
$Sc_2CO_2 + NO$	2.49	-1.16	0.034	5.13×10 <sup>7</sup>	5590
$Sc_2CO_2 + CH_4$	2.53	-1.32	0.049	2.68×1010	8.3×10 <sup>5</sup>
$Sc_2CO_2 + H_2S$	2.14	-1.75	0.175	5.44×10 <sup>17</sup>	5.7×10 <sup>11</sup>
$Sc_2CO_2 + COCl_2$	3.00	-1.97	-0.005	2.95×10 <sup>21</sup>	5.48×10 <sup>14</sup>
$WSe_2Sc_2CO_2$	-	-	-	-	-
WSe2_Sc2CO2+COCl2	1.6	-1.905	1.867	2.33×10 <sup>20</sup>	7.23×10 <sup>13</sup>
MoSe <sub>2</sub> _Sc <sub>2</sub> CO <sub>2</sub>	-	-	-	-	-
MoSe <sub>2</sub> _Sc <sub>2</sub> CO <sub>2</sub> +COCl <sub>2</sub>	1.8	-1.915	1.880	3.44×10 <sup>20</sup>	9.83×1013

 $N_2$  after interaction with  $Sc_2CO_2$